F3xk WTFEIMEEERCELE, £l (3X54) HIAD  —wram

BEAD

BT FE A mEHI B K 5 7 1EE SR | 16~648% | 65ERLILE |

# = 17,693 57,751 29,173 28,578 10,381 41,003 6,357
® F W % 434 1,412 725 687 223 970 219
= = L 940 2,936 1,489 1,447 471 2,038 427
# £ & 1 T H 209 636 313 323 106 498 32
® £ A& 2 T H 246 773 360 413 180 549 44
# £ & 3 T H 434 1,179 616 563 228 886 65
# £ & 4 T H 448 1,341 661 680 251 1,043 47
w oM 1 T B 208 627 325 302 119 467 41
w M 2 T H 334 1,002 499 503 197 764 41
e wm 1,135 3,431 1,759 1,672 513 2,378 540
& i 73 294 145 149 42 190 62
4 # 1 T H 224 610 297 313 93 461 56
& # 2 T H 175 566 270 296 82 421 63
& # 3 T H 171 406 196 210 56. 313 37
= i 924 3,330 1,675 1,655 518 2,380 432
B % & 1 T H 621 1,950 959 - 991 502 1,353 95
B ® & 2 T H 217 681 351 330 139 505 37
B % A 3 T H 193 586 297 289 150 417 19
B ® & 4 T H 278 881 445 436 180 669 32
B HE B 5 T B 364 1,175 567 608 203 926 46
W H & 6 T H 576 1,833 934 899 365 1,398 70
B E A 7T T H 339 1,062 529 533 267 758 37
A B’ H 767 2,277 1,142 1,135 314 1,619 344
A # BH 1 T H 40 103 59 44 25 72 6
A #® B 2 T B 55 180 92 88 44 125 11
R v 541 1,895 1,126 769 301 1,471 123
AGBEBRE A H 8 25 10 15 3 17 5
B =1 391 1,400 694 706 218 949 233 -
F i H 96 416 240 176 . 51 296 69
= v e 104 420 214 206 76 264 80
7N GiE: 162 612 307 305 93 401 118
% H 66 259 125 134 43 172 44
i 39 151 78 73 12 100 39

ik il 0 0 0 0 0 0 0
h Hh 0 0 0 0 0 0 0




F3k HTFHHEERCELG, £ (3X59) FHAD

— W (%)

B T F 4 SRR 2 NI - B = 15k | 156~643% | 65mll b

B2 Hh 6 6 5 1 0 6 0
& v 30 70 42 28 14 53 -3
& W Wm 4 16 11 5 2 13 1
D z & B 763 2,537 1,292 1,245 687 1,662 188
EWMR& 1 TE 87 214 111 103 43 165 6
EMBRAEG 27TH 400 1,114 574 540 224 836 54
E#M B AE 3 7TH 126 341. 160 181 i 245 19
EMREi4TH 265 878 432 446 156 668 54
R MW BBRAE 5 7TH 305 1,014 493 521 150 801 63
E®BWRAMO6TEH 408 1,365 676 689 331 972 62
EBHERWMTTH 213 650 339 311 153 474 23
E#MER M8 TH 153 430 - 224 206 100 304 26
7 Hh 96 428 218 210 71 266 91 |
T R 96 376 182 194 53 248 75
= 7N 168 597 299 298 76 408 113
= & 411 1,373 685 688 179 1,008 186
i = F 295 1,056 - 513 543 138 706 212
7N 83 310 157 153 52 194 64

5 =2} 466 1,578 782 79" 258 1,117 203
E 5 607 1,874 977 897 422 1,271 181
7 & 59 186 91 95 23 123 - 40
=] =] A 148 575 290 - 285 86 375 114
® 2] 957 3,293 1,608 1,685 504 2,293 496
X 5 = 54 233 109 124 40 145 48
i i B 37 165 78" 87 20 98 47
Faf 1 67 250 123 127 45 161 44
= = 10 47 25 22 5 32 | 10
| #7 4 67 204 110 94 22. 148 34
| % r 35 159 80 79 24 104 31
& D O 118 466 238 228 118 303 45
H 32 H 66 286 145 141 46 179 61
x 5 23 9% 46 49 17 59 19
-k = H 52 228 115 113 32 140 56
T =8 H 30 133 72 61 17 85 31
= - 33 133 65 68 31 75 27
& L3 36 153 8 75 30 99 24
= H 98 421 206 215 71 271 79
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B T % 4 || ® X 5 # 15E sk | 15~64% | 658l L

B H & £ X X X X X X X
T AR & # & X X- X X X | X X
F B ® 4 12 6 6 0 9 3
5B B K # & 0 0 0 0 0 0 0
B H K ® # 0 0 0 0 0 0 0
= O # & 0 0 0 0 0 0 0




